qV —q~ True
~qVvp— True

~qvp—>(qg—=>p—>q)

b)

i) TV(f) ={(T,F),(F,T),(F,F)}
II) D = (—|81 /\—|82) V($1 /\—|82) V(—|81 /\52)

h(z)vzeFE r~g(x)eE

Erh@)ms Fraonglz) i crngla)eE

Erh(a)~a (ho=trral) E+aw~g(a) ((:)U_{x'_)a}) E+zxw~g(x) : .
E+h(a) ~»g(a) Erg(z)~zx Er+aw~a 0w

9. a) G=({S,B},{a,b}, R,S) mit den Regeln R:

S—>aB|bS|e
B —bB|aS

b) S = aS = abS = abaB = abaB => abab

10. Léosung.
// x1 =131 = X9
while 29 # 0 do x1:= 21 - 1; 9 :=29—1 end;
// 3:=0

while 23 # 0 do x3 := 23— 1 end;
// w3 #0 setzen falls x1 40
while x1 # 0 do x5 := 23+ 1 end



